8. Electricity and Magnetism (Spring 2005)

Consider a two-dimensional (r, ) electrostatic problem consisting of two infinite plates making an
angle @ with each other and held at a potential difference V', as shown below:

{(a) Find the potential ¢(r,#)} in the vacuum region between the plates.

Now insert a wedge dielectric, of dielectric coefficient ¢, and angle /3, resting on the bottom plate as
shown below:

(b) Find the pressure experienced by the bottom plate at a distance r from the apex (from the line
joining the two plates).
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